Try this maths crossword, using the clues below.

Across
1. Any three-sided polygon. 8)

5. The product of and 2. (3)

6. 104-8 (5

8. Nothing at all. (4)

9. A square-based pyramid has five of these. (6)

11. Add all the numbers in a sum together to get this. (5)
13. The point of intersection of the x and y axis. (6)

Down

2. Anangle of less than 90°. (5)
3. The metric version of a pint. (5)

4. Any polygon with sides of different lengths has this property. 9)

7. Any shape with eight sides. %)
10. Another name for an operation in a calculation. (4)
_ The units for this could be seconds. (4)




